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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. ‘ )
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Before beginning to answer a question, its Senal_ Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer. .
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.
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General Instructions :

(i) & 5T SR &
All questions are compulsory.

(ii) HEF T F 5 IE T @7 7 8
Marks of each question are indicated against it.

(i) T7 FE 1§ 35 % Fghe go7 & 9% g7 1 o # & o el aue o
I F g &
Question Nos. 1 to 35 are objective type questions carrying 1 mark each.
Candidate have to write the correct answer in their answer-book.

(iv) F97 9% 36 & 40 7% - TTTUAT F97 & Joim Jo7 2 ST F 81 JAH JT FH
JY TTHT 30 9@ 7 o |
Question Nos. 36 to 40 are very short answer type questions carrying
2 marks each. Answer these in about 30 words each.

(v) 597 FHEF 41 T 45 7% TIOIEE J97 8 TOF JoT 3 5H 8l g% J97 & IV
TTHT 40 S F o
Question Nos. 41 to 45 are short answer type questions carrying 3 marks
each. Answer these in about 40 words each.

(vi) F97 FHF 46 GF 47 Y FTUAE 97 81 JAF JoT 5 GF F 8 g% §97 F IV
T 70 9=l 7 o
Question Nos. 46 & 47 are long answer type questions cdrrying 5 marks
each. Answer these in about 70 words each.

(vii) TT-TT 7 T &Y § B feT T & TR S o et AT g F onaRE aq7

2029

gerT Bar 7T & O FeT 7 7 onvw I O & JT Fe’ B

There is no overall choice. However, internal choice is given in both long
answer type questions of 5 marks each. You have to attempt only one of the
given choice in such questions.
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1. 54 gurit & R A & 7

2029

(A) 2.0 (B) 2.5
(C) 3.0 (D) 3.5
Numbcr of moles in 54 g of Water are :

(A) 2.0 | (B) 2.5

(C) 3.0. (D) 3.5

i ] R oTgie saee Bl E 2

A) 1 (B) 2

(€) .3 - | (D) 4
Find number of unpaired electrons in Oxygen atom :
(A) 1 (B) é

(C) 3 | . (D) 4

B, Al, Mg @1 K il & e SR @1 @) A9 e -

(A) B> Al>Mg > K
(B) Al>Mg>B >K
(C) Mg >Al>K>B

(D)' K> Mg>A(>B

Downloaded from cclchapter.com

2029

P.T.O.



2029

Arrange B, Al, Mg and K in correct order of their metallic character :

(A)

(B)

- ©)

(D)

B> Al> Mg > K

Al>Mg>B > K

Mg > Al>K>B

K> Mg> Al> B

(4)

a@m_mmﬁw@mww%?

(A)

(©€)

How many vertical columns in Modern Periodic table ?

(A)

(€)

2

32

2

32

(B) 8
(D) 18
B) 8

(D) 18

PI-91 A L faga ogel 7e7 R ?

(A)

(C)

cO,

H,0

(B) BF;

(D) CCly

Which compound do not show zero dipole moment ?

(A)

(€)

CO,

H,0

(B) BF3

(D) ccl,
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(5)
C12 AR cCly ﬁmmﬂm-wwaﬁ%?

(A) faya-faga s
(B) fEyga-IRa iiga I
(C) WehlUi &

(D) EEgSH ¥

Which type of intermolecular force exists in Cl, and CCZ4 ?

A : -

(A) dipole-dipole forces

(B) dibole—i_ﬁduged glpnle fq‘rc'es

(C) -dispersion forces

(D) hydrogen bonds
WHWQT%WW'%’IQW%?

(A) 0°C : (B) 0K

(€) OF ‘ | | D) T q PE T

The temperature at which the volume of gas is zero ?

() 0°C | | (B) 0K

(C):20°F & | (D) None of these
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8. T s & oE oRRaR 3 99 B R 1

(A) AT=0 (B) AP=0
(€) g=0 . (D) w=0

For the process to occur under adiabetic conditions, the correct condition is :

i8] - 4T% 9 (B) AP=0
(C) g=0 (D) w=0
9. HME-LISAT H pH e B 7 1
(A) 7.4 (B) 9.2
€ 7.8 (D) 6.4

The pH of Human Saliva is :

(A) 7.4 : (B) 9.2
(c) 7.8 : - (D) 6.4
10. KCIO; & Cl % Sl e 7 ¥ ? ‘. :
(A) +5 (B) +3
(C)‘ +1 | (D) -1 | 5

2029
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The oxidation number of Clin KCIO; is :

(A) +S ' (B) +3
(C) +1 (D) -1
11. sof“ﬁwq;reﬁmzmmw%? | 1
(A) -2 B) +6
'(C) +3 (D) +4
The oxidation number of Sulphur in SO2~ is :
(A) -2 (B) +6
€ +3 (D) +4
12, RN & WIS A de R & 7 1
A) 2 | ® 3
@n 5 (D) 4

How many isotopes of Hydrogen ?
(A) 2 (B) 3
(C) S : (D) 4

' | “T00.
2029 . P
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13, wEgm &1 A e R Y - !

(A) 0.0V (B) 1.0V
(C) -10V (D) 2.0V

Standard electrode potential of Hydrogen is :

kA) 0.0V B) 1.0V
(C) -1.0V | (D) 2.0V
14. a%fﬁzm ST & G ;M ? 1
(A) Ca(OH), | (B) NaOH
(C) KOH (D) NayCOj

What is formula of Caustic Soda ?

(A)  Ca(OH), (B) NaOH
(C) KOH (p) Na,CO3
15. mmmmmmm%? 1'
(A) Na . (B) K
(é) Rb (D) Cs

2029
Downloaded from cclchapter.com



17.

2029

(9)

Which alkali metal having least melting point ?
(A) Na | (B) K

(C) Rb (D) Cs

16 TS &Y § FET FH Faiis =l 9 HHE-91 § ?

(A) B (B) IR
(C) HEi« (D) S

Thermodynamically the most stable form of Carbon is :

~ (A) Diamond (B) Graphite

(C) Fullerenes (D) Coal

€l P T G 2
(A) T . (B)
©) T . D) et
C,H,-2 is general formula of :

(A) Alkanes : (B) Arenes

(C) Alkenes (D) Alkynes
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18. dftem Wree qur et arew Prar B W Y Y 7T G B ? 1
(A) S (B) &M
(C) wHidw (D) =RA

Heating a mixture of sodium acetate with soda-lime gives :

(A) Propane (B) Ethane
(C) Methane (D) Butanc
19. 34.216 % i @dE 3H q& Freped A | 1

Round up 34.216 upto three significant figures.
20. Pr=fifed el # Reae emar sifteam e ? - | 1
Mg, Mg2*, Al, AI3*
Which of the following species will have largest size ?
Mg, Mg?*, Al, AI?*
21. p-aie TE H A s e fre ;

Write general electronic cbnﬁguration of p-block elements.

2029
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23.

24.

25.

26.

27,

2029

(11)
Wwﬁm'w%?

What is Boyle's Law ?

aed B FEm # wr Rew dar ¥ 7
What is constant in Charle's Law ?
SR Ry |y 2

What is oxidation process ?
e sififeer & oo A & 7

Zn + CuSO4 ——— ZnSO,4 + Cu

Which is reducing agent in the fol’lbwing' reaction ?

Zn + CuSO4—— ZnSO4 +Cu
Na, K& &9 frashia &t & ?

Why is Na less reactive than K?

1 Kilometer = ..ovevvvnnenns millimeter.
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29.

30.

31.

32.

33.

34.

35.

2029

(12) 2029
Li 1 O A S99 arar el ARE v 2 ‘

Binary compound formed by Li and Ois ................ ;

TAF WG B Y@ A VA Py aws o P, Brt aee Rew AR R e
FEISSEIIEH %I 1
Each line of V Vs. P graph at constant temperature is called .............-.. :

T STERAT § ST A TR i FEAC &l 1

In a reaction acceptor of electrons called .............. i

CuS0,4.5H,0 H a@mm&mﬁ%mﬂeﬁaﬁm B B 1

................ number of hydrogen bonded water molecules in CuSO4.5H20 .

Group 13 hydrides called ............... :

KOy & K %l ST T .ovvnvvnennne Bl 1

is oxidation state of Kin KOy.

it 13 Li, Na, K, Rb, Cs @I «vvvevovsn. OBl ;

Group 1 Li, Na, K, Rb, CS’ are called ...ovvvvevvennn mctals.

The type of hybridization of carbon in diamond is ................ :
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36. NaOH 3 fiqge 3t Al & WRe Afer, R 4 g NaOH ® o & Preept ot fan
T &, s R & 250 mL W B s | ?

Calculate the molarity of NaOH in the solution prepared by dissolvirllAg its 4 g

 NaOH in water to form 250 mL of solution.

37 0.1 kg 5 &R 10 ms™! ¥ & MR F @ @ K A e F@v o ? 2

: What will be the wavelength of a ball of mass 0.1 kg moving with a velocity of
10ms™! ? B . |

38, foRe @t ;¥ 7 o gaer A | 2

What is enthalpy of format‘i/on>? Give o‘nej examiﬁle. |
39. Fiws &mﬁNHg T HCOO™ % §F &t 71 & ?" ': | | 2
What will be the c'onjugate gcids for the-quﬁsted basgs NHz and HCQO™ ?
40. ﬁmw%?‘ﬁwmﬁ%ﬁﬁﬁm : ' 2.
What are Electrophiles ? Give its types with exaﬁPies. R
41.@%%%%%@@@@%%@#&‘1 | | 3
Explain Hund's rule of maximum multiplicity with example.
42. g 7, & o1 TUT SMARep SHoll T GICATNT Y]
Define closed system, intensive properties and internal energy.

2029 . P.T.O.
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43. o7 T HRE B FERS-aI gROT B I F @ gReid HU

Define acid and basc with cxample in Bronsted-Lowry concepl.

44, s Yaf, ShT g ST T SIS B AT Hifor

Explain catenation, inert pair effect and allotropy.

45. fr=fafEd 3 IUPAC W fafEa :

DRV A VAN

Cl” 'Br

9
(b) /\/\
| \ Cl H
() N\/\

Give IUPAC names of the following :

SRV A VAN
Cl" 'Br

(f BT
(b) M -
cl H T
(C) /\/\/\
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46. U et F WHET ¥ oG HT G § P sp, sp? AN sp° WHC et B PR
SETEXT @i aoi A 5

What is meant by hybridization of atomic orbitals ? Describe the shapes of sp,

sz and Sp3 hybrid orbitals with example..

OR

Y FHife @ T 1 G951 & ? Ny, Oy, OF T O; & (Y Hife F IRSFeH Hivm

What is meant by the term bond order ? Calculate the bond order of Ny, O,

O3 and 03.

7. o gyl 5
What is Wurtz reaction ? .
(i) HATBAIHS FEw T § ? IETER died AT Hifm 3
What is Markownikoff rule ? Explain with example.

HYqr

OR

P. T#0;
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(i)

(1)

(16)
ﬂ%—mmﬁmw%?mnﬁamzﬁﬁm

What is anti- Markownikoff rule ? Explain with example.

BRI TEEAS SR T 8 7

What is Friedel-Crafts alkylation reaction ?
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